

Because learning changes everything.

QUOTE PREPARED FOR:

Illini Central Dist #189 208 N WEST AVE MASON CITY, IL 62664 ACCOUNT NUMBER: 241691

SUBSCRIPTION/DIGITAL CONTACT:

Jennifer Durbin jdurbin@illinicentral.org (217) 482-5180

CONTACT:

Jennifer Durbin jdurbin@illinicentral.org (217) 482-5180

SALES REP INFORMATION:

Linda Alexander linda.alexander@mheducation.com (630) 805-1802

Section Summary		Value of All Materials	Free Materials	Product Subtotal
Essentials of Human Anatomy and Physiology © 2018 (5 Year)		\$3,394.50	(\$117.00)	\$3,277.50
Inspire Science © 2020 - Earth and Space (5 Year)		\$6,307.56	(\$896.04)	\$5,411.52
Inspire Science © 2020 - Life Structure and Function (5 Year)		\$5,969.34	(\$896.04)	\$5,073.30
Inspire Science © 2020 - Physical (5 Year)		\$6,871.26	(\$896.04)	\$5,975.22
Professional Development		\$1,500.00	\$0.00	\$1,500.00
	PRODUCT TOTAL*	\$24,042.66	(\$2,805.12)	\$21,237.54
	ESTIMATED S&H**		5.66 人的	\$1,699.03
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$22,936.57

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:			
		A ST AND RESIDENCE OF STREET AND ADDRESS OF STREET	AND THE RESIDENCE OF THE PARTY
1			
1			
1			
	SPACEOUS PROPERTY OF THE PARTY		

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

03/18/2025

ACCOUNT NAME: Illini Central Dist #189

EXPIRATION DATE:07/16/2025

QUOTE NUMBER:

LALEX-03182025010616-001

ACCOUNT #: 241691

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Essentials of Human Anatomy and Physiology ©	2018 (5 Year)				
ELECT ESSENTIALS OF HUMAN ANATOMY & PHYSIOLOGY HIGH SCHOOL CONNECT W/APR 5YR SUB	978-0-07-899731-0	25	\$131.10	\$0.00	\$3,277.50
ELECT ESSENTIALS OF ANATOMY & PHYSIOLOGY ONLINE TEACHER EDITION 5YR SUBSCRIPTION	978-0-07-683833-2	1	\$117.00	\$117.00	*Free Materials
Essentials of Human An	atomy and Physiology	/ © 2018 (5 \	Year) Subtotal:	\$117.00	\$3,277.50
Inspire Science © 2020 - Earth and Space (5 Year)		Name of			
INSPIRE SCIENCE EARTH & SPACE G6 COMPLETE STUDENT BUNDLE 5 YEAR BUNDLE Includes: 5-Years Online Access, 5-Years of the consumable Student Editions, Units 1-4 (Years 2-5 will ship annually)	978-0-07-691051-9	48	\$112.74	\$0.00	\$5,411.52
<u>Teacher Materials</u>					
INSPIRE SCIENCE EARTH & SPACE TEACHER EDITION 4 UNIT BUNDLE	978-0-07-688313-4	2	\$214.65	\$429.30	*Free Materials
Digital Only INSPIRE SCIENCE EARTH & SPACE G6 ONLINE TEACHER EDITION 5 YEAR SUBSCRIPTION	978-0-07-691105-9	2	\$197.61	\$395.22	*Free Materials
INSPIRE SCIENCE G6-8 ELP PROGRAM GUIDE A TEACHERS TOUR	978-0-07-696258-7	2	\$11.91	\$23.82	*Free Materials
INSPIRE SCIENCE EARTH SPACE G6 POSTER PACK 13 POSTERS 10 MODULES EDP SEP CCC	978-0-07-688318-9	2	\$23.85	\$47.70	*Free Materials
	T	eacher Mate	rials Subtotal:	\$896.04	\$0.00
Science Kits					
		Science	Kits Subtotal:	\$0.00	\$0.00
Inspire Science	nce © 2020 - Earth an	d Space (5)	rear) Subtotal:	\$896.04	\$5,411.52
Inspire Science © 2020 - Life Structure and Functi	on (5 Year)				
INSPIRE SCIENCE LIFE STRUCTURE & FUNCTION G7 COMPLETE STUDENT BUNDLE 5 YR BUNDLE Includes: 5-Years Online Access, 5-Years of the consumable Student Editions, Units 1-4 (Years 2-5 will ship annually)	978-0-07-691061-8	45	\$112.74	\$0.00	\$5,073.30
Teacher Materials	See Harrie				
INSPIRE SCIENCE LIFE STRUCTURE & FUNCTION TEACHER EDITION 4 UNIT BUNDLE	978-0-07-688382-0	2	\$214.65	\$429.30	*Free Materials
Digital Only INSPIRE SCIENCE LIFE STRUCTURE & FUNCTION G7 ONLINE TE 5 YEAR SUBSCRIPTION	978-0-07-691147-9	2	\$197.61	\$395.22	*Free Materials
INSPIRE SCIENCE G6-8 ELP PROGRAM GUIDE A TEACHERS TOUR	978-0-07-696258-7	2	\$11.91	\$23.82	*Free Materials
INSPIRE SCNCE LIFE STRCTRE&FUNCTN G7 POSTER PACK(11 PSTRS 8MDLS/EDP/SEP/CCC)	978-0-07-688388-2	2	\$23.85	\$47.70	*Free Materials
	Tr	eacher Mate	rials Subtotal:	\$896.04	\$0.00
Science Kits					70.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

03/18/2025

ACCOUNT NAME: Illini Central Dist #189

EXPIRATION DATE:07/16/2025

QUOTE NUMBER:

LALEX-03182025010616-001

ACCOUNT #: 241691

PAGE #:



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
		Scienc	e Kits Subtotal	\$0.00	\$0.00
	20 - Life Structure and I	unction (5	Year) Subtotal:	\$896.04	\$5,073.30
Inspire Science © 2020 - Physical (5 Year)					
INSPIRE SCIENCE PHYSICAL G8 COMPLETE STUDENT BUNDLE 5 YEAR BUNDLE Includes: 5-Years Online Access, 5-Years of the consumable Student Editions, Units 1-4 (Years 2-5 will ship annually)	978-0-07-691074-8	53	\$112.74	\$0.00	\$5,975.22
<u>Teacher Materials</u>					
INSPIRE SCIENCE PHYSICAL G8 TEACHER EDITION 4 UNIT BUNDLE	978-0-07-688338-7	2	\$214.65	\$429.30	*Free Materials
Digital Only INSPIRE SCIENCE PHYSICAL G8 ONLINE TEACHER EDITION 5 YEAR SUBSCRIPTION	978-0-07-691480-7	2	\$197.61	\$395.22	*Free Materials
INSPIRE SCIENCE G6-8 ELP PROGRAM GUIDE A TEACHERS TOUR	978-0-07-696258-7	2	\$11.91	\$23.82	*Free Materials
INSPIRE SCIENCE PHYSICAL G8 POSTER PACK (10 MODULES/EDP/SEP/CCC)	978-0-07-688342-4	2	\$23.85	\$47.70	*Free Materials
	T	eacher Mat	terials Subtotal:	\$896.04	\$0.00
Science Kits					
		Scienc	e Kits Subtotal:	\$0.00	\$0.00
	spire Science © 2020 -	Physical (5	Year) Subtotal:	\$896.04	\$5,975.22
Professional Development					ATTACK TO THE
PROF LRN HALF-DAY ONLINE TRAINING 2 HOUR SESSION GRADES 6 12 SCIENCE	978-1-26-422144-8	1	\$1,500.00	\$0.00	\$1,500.00
	Profession	nal Develop	pment Subtotal:	\$0.00	\$1,500.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

03/18/2025

ACCOUNT NAME: Illini Central Dist #189

EXPIRATION DATE:07/16/2025

QUOTE NUMBER:

LALEX-03182025010616-001

ACCOUNT #: 241691

PAGE #:



Comments:

Because learning changes everything."

QUOTE PREPARED FOR:

Illini Central Dist #189 208 N WEST AVE MASON CITY, IL 62664 ACCOUNT NUMBER: 241691

CONTACT:

Jennifer Durbin jdurbin@illinicentral.org (217) 482-5180

FREE MATERIALS	(\$2,805.12)
PRODUCT TOTAL*	\$21,237.54
ESTIMATED SHIPPING & HANDLING**	\$1,699.03
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$22,936.57

SUBSCRIPTION/DIGITAL CONTACT:

Jennifer Durbin jdurbin@illinicentral.org (217) 482-5180

Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, tual tax charges will be applied at time of order.
prims of Service: It placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service of any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill Concepts of the provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill Concepts of the provisions required by Subscribed Materials at forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each cated in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, a initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms ach a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.
erms Of Service
ovisions required by Subscriber State law
TENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no nger accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by
iting www.mheducation.com (or www.mhecoast2coast.com).
chool Purchase Order Number:
Name of School Official (Please Print) Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

03/18/2025

ACCOUNT NAME: Illini Central Dist #189

EXPIRATION DATE:07/16/2025

QUOTE NUMBER:

LALEX-03182025010616-001

ACCOUNT #: 241691

PAGE #: